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ÍÛæ̃ Û¶ÛÛ :   ¸Û óÊ¶Û ¸Û ª Û ¾ Û Û × þ ù ÉÛ Û ÙÈÛ éÅÛ  ’ õ¾Û Û ×ïõ ›÷ Š« Û Á õÈÛ Ðüà ¾ Û Û× ÅÛ ” Û Ûé. 

Instruction : Indicate the same number as given in the question paper. 

 

1. Ü ÈÛ ß Û Û ¸Û ¶Û ¶Ûä× …Û Ü ¬ Û Ùïõ ¾ Û Û ¸Û  ïõÛ §ø ÈÛ Û ¾ Û Û× ïõˆ  ¾ Û äÉ ïéõÅÛ à …Û é Á õÐ éüÅÛ à  ™ öé ? Ü ÈÛ ß Û Û ¸Û ¶Û ¶Û à  …Û Ü ¬ ÛÙïõ … Í Û Á õÛé¶Û é ¾ Û Û ¸Û ÈÛ Û ¶Ûà 
¸Û ±ù Ü ©Û …Û é ›÷¨Û Û ÈÛ Û é.  14 

 Discuss the problems involved in measuring economic effect of advertisement. Describe 

the methods of measuring the economic effects of advertisement. 

…¬ÛÈÛÛ/OR 

 Ü ÈÛ ß Û Û ¸Û ¶Û  …×þ ù Û ›÷¸Û ª Û  …é¤øÅÛ é É Û ä× ? ›Û ÐéüÁ õÛ ©Û  …×þ ù Û ›÷¸Û ª Û  ¶Û ‘õà  ïõÁ õÈÛ Û ¶Û à  Ü ÈÛÜ ÈÛ µÛ  ¸Û ±ù Ü ©Û …Û é Í Û ¾ Û ›Û ÈÛÛ é. 

 What is advertisement budget ? Explain various methods which determine advertisement 

budget. 

 

2. ¾ Û æ¦ øà  ¼ Û ›÷é¤ø¶Û à  Ü ÈÛ Ü ÈÛ µÛ  ¸Û ±ù Ü ©Û…Û é Šþ ù Û ÐüÁ õ¨Û  …Û ¸ Û à  Í Û ¾ Û ›Û ÈÛÛ é. 14 

 Describe various methods of capital budgeting with illustrations. 

       …¬ÛÈÛÛ/OR 

 ¾ Û æ¦ øà  ¸Û æÁ õÈÛ ¥øÛ ¶Û Û× ÎÛ Û é©Û Û é¶Û à  ˜ Û ˜ ÛÛ Ù ïõÁ õÛ é. 

 Discuss the sources of supply of capital. 

 

3. Í Û ¾ Û ©Ûæ¤ø Ü ÈÛ ÊÅÛ éÌ Û ¨Û  …Û ïèõÜ ©Û  … ¶Û é Šþ ù Û ÐüÁ õ¨Û  ³ ù Û Á õÛ  Í Û¾ Û ›Û ÈÛ Ûé. 14 

 Explain break-even analysis with diagram and illustration. 

    …¬ÛÈÛÛ/OR 

 ¶Û à ˜ Ûé¶Û Û ×¶Û à  Í Û ¾ Û› æ÷©Û à  …Û ¸Û Û é : 

 Explain the following : 

 (1 ) ÈÛ èÜ ±ù •Û ©Û  …¶Û é ¦ æø¼ Û ©Û ä× ” Û ˜ ÛÙ. 

  Incremental cost and Sunk cost 
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 (2 ) Í Û Û ¾ ÛÛ ¶ýÛ  Š©¸Û Û þ ù ¶Û  ” Û˜ ÛÙ 

  Common production cost 

 (3 ) ¸Û ä¶Û :Í ¬ Û Û ¸Û ¶Û Û  …¶Û é …íéÜ ©Û ÐüÛ Ü Í Û ïõ ” Û ˜ Û Ù 

  Replacement and Historical cost 

 (4 ) ¸Û ó©ýÛ “Û  …¶Û é ¸Û Á õÛ é“Û  ” Û ˜ Û Ù 

  Direct and Indirect costs 

 

4 . (A ) ÈÛ é̂ ¤øá •Û  ÅÛ Û ˆ ¶Û  Í Û ¾ ÛÍ ýÛ Û 14 

  Waiting line problem 

 (B) ¾ Û Û ÅÛ ÍÛ Û ¾ Û •Ûóà  …×ïäõ ÉÛ ¶Û Û × ÅÛ Û ½ Û 

  Advantages of inventory control 

   …¬ÛÈÛÛ/OR 

 ¾ Û Û ÅÛ ÍÛ Û ¾ Û •Ûóà  …×ïäõ ÉÛ ¶Û ä× EO Q  ¾Û Û é¦ éøÅÛ  Í Û ¾ Û›Û ÈÛ Ûé . 

 Explain EOQ model of Inventory control. 

 

5. Í Û Û ˜ Û Ûé Ü ÈÛ ïõÅ¸Û  ¸Û Í Û ×þ ù  ïõÁ õÛé. 14 

 Select the correct option : 

 (1) Ü ÈÛ ß Û Û ¸Û ¶Û ¶Ûé ÈÛ é̃ Û Û ¨Û ¶Û Û× ¸Û Ü Á õ¨Û Û ¾Û  ©Û Á õ à ïéõ ¶Û Ðüá  •Û ¨Û ©Û Û× ïõÛ Á õ¨Û  ©Û Á õ à ïéõ •Û ¨Û ÈÛ ä× ›Û é̂ …é. 
  (a) Í Û Û ˜ Ûä× (b) ” Û Û é¤ä×ø 
  Advertising shuld be viewed as the cause and not the result of sales. 

  (a) true (b) false 

 (2) ¶Û à ˜ Ûé¶Û Û ¾ Û Û ×¬ Û à  ¾Û æ¦ øà  ¸Û äÁ õÈÛ ¥øÛ ¶Û Ûé …Û ×©Û Ü Á õïõ ÎÛ Û é©Û  ïõýÛ Û é ™ öé ? 

  (a) Ü ¦ ø¼ Ûé¶˜ Û Í Û Ù (b) ÉÛ éÍ Û Ù (c) – Û Í Û ÛÁ õÛé 
  Which of the following is internal source of supply of capital ? 

  (a) Debentures (b) Shares (c) Depreciation 

 (3) ÈÛ Í ©Û ä¶Û Û× Š©¸Û Û þ ù ¶Û  ¸Û Û ™ öÇ  ¬ Û ©Û ä× Í Û ×ÉÛ Û éµÛ ¶Û  …¶Û é Ü È Û ïõÛ Í Û  ” Û ˜Û Ù ïõýÛ ä× ” Û ˜ Û Ù •Û ¨Û Û ýÛ  ? 

  (a) ¸Û ó©ýÛ “Û (b) ¸Û Á õÛ é“Û (c) ¼ Û é¾ Û Û×¬ Û à  …éïéõýÛ  ¶Û Ðüá 
  Research and development cost for commodity’s production is considered as  

  (a) Direct cost (b) Indirect cost (c) None 

 (4) Ü ÈÛ ß Û Û ¸Û ¶Û  ”Û ˜ ÛÙ ÈÛ Í ©Û ä¶Û Û  ____ __ ¾ Û Û × ÈÛ µÛ Û Á õÛ é ïõÁ éõ ™ öé. 
  (a) ©Û äÜ Ì ¤ø•Û ä̈ Û (b) ¾ Û Û ×•Û (c) ¼ Û ×¶Û é 
  Advertising expenditure increases a commodity’s _________ 

  (a) Utility (b) Demand (c) Both 
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 (5) ¾ Û Û ÅÛ ÍÛ Û ¾ Û •Ûóà  …×ïäõ ÉÛ ¶Û Û é Ðéü©Û ä ” Û ˜ Û Ù ¶ýÛ æ¶Û ©Û ¾ Û  ïõ Á õÈÛ Û ¶Û Û é ™ öé. 

  (a) Í Û Û ˜ Ûä×  (b) ” Û Û é¤ä×ø 

  The objective of inventory control is to minimize the cost  

  (a) True (b) False 

 (6) – Û Í Û ÛÁ õÛé …é Á õÛ éïõ¦ ø ” Û ˜ Û Ù ™ öé. 

  (a) Í Û Û ˜ Ûä× (b) ” Û Û é¤ä×ø 

  Depreciation is out of pocket cost  

  (a) True (b) False 

 (7) º õÛ Ç Ûé = ÈÛ é̃ Û Û ¨Û Ý ïõ¾ Û ©Û  – ________ 

  (a) Ü Í ¬ Û Á õ ” Û ˜ ÛÙ (b) …Ü Í ¬ Û Á õ ” Û ˜Û Ù (c) ÈÛ é̃ Û Û ¨Û  ” Û ˜ ÛÙ 

  Contribution = Selling price – ___________ 

  (a) Fixed cost (b) Variable cost (c) Selling cost 

 (8) ¾ Û æ¦ øà ¶Û à  …™ ö©Û  ¸Û óÈÛ ©Û ë ™ öé …¶Û é  ©Û é¬ Û à  ©Ûé¶Û é ¾ Û éÇ ÈÛ È Û Û  ” Û ˜ ÛÙ ïõÁ õÈÛ ä× ¸Û ¦ éø ™ öé. 

  (a) Í Û Û ˜ Ûä× (b) ” Û Û é¤ä×ø 

  ‘Capital is a scarce resource and as such it has a cost’. 

  (a) True (b) False 

 (9) ¾ Û ×þ ù à ¶Û Û× Í Û×›Û é•Û Û é¾ Û Û × ¸Û é§øà … é Ü ÈÛ ß Û Û ¸Û ¶Û  ” Û˜ Û Ù  – Û ¤øÛ ¦ øÈÛ ä× ›Û é̂ …é. 

  (a) Í Û Û ˜ Ûä× (b) ” Û Û é¤ä×ø 

  A firm should reduce the advertisement budget during depression 

  (a) True (b) False 

 (10) µÛ Û Á õÛ é ïéõ ïõÛ é̂  ¸Û é§øà  Á õÛ é›÷¶Û Û × 1 5 0  …éïõ¾ Û Û é¶Û ä × Š©¸Û Û þ ù ¶Û  ïõÁéõ ™ öé  …¶Û é ©Û é¶Û ä× Ü Í ¬ Û Á õ ”Û ˜ ÛÙ ` 3 ,00 0  ™ öé. 

ÐüÈÛ é ¸Û é§ øà  Á õÛ é›÷¶Û Û × 2 00  …éïõ¾ Û Û é¶Û ä× Š©¸Û Û þ ù ¶Û  ï õÁ éõ ™ öé ©Û Û é Ü Í ¬ Û Á õ ” Û ˜ ÛÙ ÉÛ ä× …Û ÈÛ ÉÛ é ? 

  (a) ` 3 ,0 00 (b) ` 4 ,0 00 (c) ` 5 ,0 00 

  If a firm produces 150 units per day and its fixed cost is ` 3,000. But now it 

produces 200 units per day then what will be the fixed cost ? 

  (a) ` 3,000 (b) ` 4,000 (c) ` 5,000 

 (11) Í Û ¾ Û ©Ûæ¤ø Ü ÈÛ ÊÅÛ éÌ Û ¨Û ¶Û Û é Š°éù ÉÛ  µÛ ×µÛ Û ¾ Û Û × …Û ÈÛ ïõ …¶Û é ” Û ˜ ÛÙ Í Û Á õ” ÛÛ × ¬ Û Û ýÛ  …éÈÛ à  ÈÛ é̃ Û Û ¨Û ¶Ûà  ïõ“Û Û 

ÉÛ Û éµÛ ÈÛ Û ¶Û Û é ÐüÛ éýÛ  ™ öé. 

  (a) Í Û Û ˜ Ûä× (b) ” Û Û é¤ä×ø 

  The objective of break-even analysis is to find such a level of sale at which 

revenue and cost are the same. 

  (a) True (b) False 
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 (12) Í Û Û ¾ ÛÛ ¶ýÛ  Á õ à ©Ûé Ü ÈÛ ß Û Û ¸Û ¶Û  ¼ Û ›÷é¤ø  ___ ___ ÈÛ Ì Û Ù ¾ Û Û ¤éø ©Û í éýÛ Û Á õ ïõÁ õÈÛ Û ¾ Û Û× …Û ÈÛ é ™ öé. 

  (a) …éïõ (b) ª Û ¨Û (c) ¸Û Û ×̃ Û 

  Generally advertisement budget is prepared for ___________ 

  (a) one year (b) three years (c) five years 

 (13) Ü Í ¬ Û Á õ …¶Ûé …Ü Í ¬ Û Á õ ” Û ˜Û Ù …éÈÛ Û é ©Û º õÛ ÈÛ ©Û  ¾Û Û ª Û  ____ _ •Û Û Ç Û  ¾ Û Û ¤éø ›÷ ÐüÛ éýÛ  ™ öé. 

  (a) ¤æ×ø ïõÛ (b) ÅÛ Û ×¼ Û Û 

  The distinction between fixed cost and variable cost is only in the _________ 

run. 

  (a) short (b) long  

 (14) Ü ÈÛ ß Û Û ¸Û ¶Û  ”Û ˜ ÛÙ¶Û Û × Šþ Õù ½ Û ÈÛ ¶Ûä× ¾ Û ä” ýÛ  ïõÛ Á õ¨Û  __ __ ___ ™ öé. 

  (a) ¶Û º õÛé (b) ¾ Û Ðü« Û ¾ Û  ÈÛé̃ Û Û ¨Û (c) ÈÛ Í ©Û ä ÈÛ íéÜ ÈÛ µýÛ 

  The reason for advertisement cost is ____________ 

  (a) Profit  

  (b) Sales maximisation 

  (c) Product differentiation 

____________ 
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1. ¾ Û Û é¤øÛ , ¾ Û µýÛ ¾ Û  …¶Û é •Û èÐü-¶Û Û ¶Û Û  Š² Û é•Û Û é¶Û Ûé …¬ Û Ù, ¸Û ó ïõÛ Á õ ©Û ¬ Û Û  ©Ûé¾ Û ¶Û Û × ¾ Ûæ¦ øà  Á õÛ éïõÛ ¨Û ¶Û à  ¾Û ýÛ Û Ùþ ù Û ¾ Û Û× …Û ÈÛ éÅÛ  
¸Û Ü Á õÈÛ ©Û Ù¶Û Ûé¶Û à  Ü ÈÛ Í ©Ûè©Û  ˜ Û ˜ Û ÛÙ ïõÁ õÛ é. 14 

 Discuss the Large, Medium and SSI along with their definitions, types and investment 

limit. 

…¬ÛÈÛÛ/OR 

 ½ Û Û Á õ©Ûà ýÛ  …¬ Û Ù©Û ×ª Û ¾ Û Û× •Û èÐ ü-¶Û Û ¶Û Û  Š² Û é•Û Û é¶Û ä× ¾ Û Ðü« ÈÛ , ©Û é¾ Û ¶Û à  Í Û ¾ Û Í ýÛ Û …Ûé …¶Û é ©Û é þ æù Á õ ïõÁ õÈÛ Û ¶Û Û× ¸Û •Û ÅÛ Û …Û é¶ Û ä× 
Ü ÈÛ ÊÅÛ éÌ Û ¨Û  ïõÁ õÛ é. 

 Comment on the importance, problems and remedial steps for SSI in Indian economy.   

 

2 . ½ Û Û Á õ©Û  Í Û Á õïõÛ Áõ¶Û à  ‘19 56’¶Û à …Û íé² Û éÜ •Û ïõ ¶Û à Ü ©Û ¶Û ä× ¤øà ïõÛ ©¾ Û ïõ Ü ÈÛ ÊÅÛ éÌ Û ¨Û  … Û ¸Û Û é. 14 

 Evaluate the industrial policy of 1956 of Govt. of India. 

…¬ÛÈÛÛ/OR 

 Šþ ù Û Á õ à ïõÁ õ¨Û , ” Û Û¶Û •Û à ïõÁ õ¨Û  ©Û ¬Û Û  ÈÛíéÜ ÊÈÛ ïõ ¸Û Ü Á õÈÛ ©Û Ù¶Û Û é¶Û Û × Í Û×þ ù ½ Û Ù¾ Û Û × ½ ÛÛ Á õ©Û ¶Û à ‘1 99 1’¶Û à …Û íé² Û éÜ •Û ï ¶Û à Ü ©Û ¶Û à 
Í Û ¾ Û à “Û Û  ïõÁ õÛé. 

 Assess the industrial policy of 1991 in the context of Liberalisation, Privatisation and 

Globalisation. 

 

3 . ™ öéÅÅÛ Û  ¼ Ûé þ ù Û ýÛ ïõÛ  þ ù Á õ¾ ýÛ Û ¶Û  ½ ÛÛ Á õ©Û ¾ Û Û× ¬ Û ýÛ é ÅÛ  …Û íé² Û éÜ •Û ïõ Ü ÈÛ ïõÛ Í Û ¶Û Û× ÈÛ ÅÛ ¨Û Û é ©Û ¸Û Û Í ÛÛ é. 14 

 Examine the trends of Industrial development in India in the last two decades. 

…¬ÛÈÛÛ/OR 

 ½ Û Û Á õ©Û¾ Û Û× …Û íé² Û éÜ •Û ïõ Ü ÈÛ ïõÛ Í Û  ¾ Û Û ¤éø ” Û Û ¶Û •Û à ïõ Á õ¨Û  …¶Û é Ü ÈÛ ïéõ¶® ù à ïõÁ õ¨Û ¶Û à  þ ùÅÛ à ÅÛ Ûé¶Û à  Í Û¾ Û à “Û Û ïõÁ õÛ é. 

 Comment on the concepts of privatisation and decentralisation in the context of 

industrial development in India. 
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4 . ¸Û é§øà ¶Û Û × › ä÷þ ù Û ×-› ä÷þ ù Û × Í ÈÛ Äõ¸Û Û é¶Û Û × ÅÛ Û ½ Û Û - ÅÛÛ ½ Û  ˜ Û ˜ Û Ûë. 14 

 Evaluate the advantages and disadvantages of various forms of the firm. 

                              …¬ÛÈÛÛ/OR 

 ¸Û é§øà  … ×•Û é¶Û Û  ¼ Û Û é¾ Û ÅÛ ¶Û Ûé ÈÛ é̃ Û Û ¨Û  …Û ÈÛ ïõ ¾ Û Ðü« Û ¾ Û ¶Û Û  Ü Í Û ±ùÛ ×©Û ¶Ûà  Í Û ¾ Û› æ÷©Û à  …Û ¸Û Û é. 

 Explain Baumol’s model of sales revenue maximisation for firms. 

 

5 . ýÛ Û é•ýÛ  Ü ÈÛ ïõÅ¸Û  ¸Û Í Û ×þ ù  ïõÁ õÛ é. 14 

 Choose the correct option : 

 (1 ) 1 9 91 ¶Û à  …Ûíé² Û éÜ •Û ïõ ¶Û à Ü ©Û  ¸Û ó¾ Û Û ¨Û é •Û èÐü-¶Û Û ¶Û Û  Š² Ûé•Û Û é ¾ Û Û ¤éø¶Û à  ¾ Û æ¦ øà  Á õÛéïõÛ ¨Û  ¾ Û ýÛ Û Ùþ ù Û  ` ___ __ _  
ÅÛ Û ” Û  Ðü©Û à . 

  (a) 5 (b) 7 5 (c) 6 0 

  The investment limit for SSI as per 1991 policy was __________ lac. 

  (a) 5 (b) 75 (c) 60 

 (2) ½ Û Û Á õ©Û¾ Û Û× ¸Û ÐéüÅÛ à  …Û íé² Û éÜ •Û ïõ ¶Û à Ü ©Û  _____ __ Í Û Û Å Û ¾ Û Û× ›Û Ðéü Á õ ¬ Û ˆ . 

  (a) 1 9 48 (b) 1 9 56 (c) 1 9 50 

  The first industrial policy in India was declared in __________. 

  (a) 1948 (b) 1956 (c) 1950 

 (3) ¾ Û Û é¤øÛ  …¶Û é ˜ Û Û ÈÛ à Äõ¸Û  Š² Û é•Û Û é¶Û é ___ __ __ …Û í é² Û é Ü •Û ïõõ ¶Û à Ü ©Û ¾ Û Û × ¾ Û Ðü« ÈÛ  …Û ¸Û ÈÛ Û ¾ ÛÛ × …Û ÈýÛ ä×.  
  (a) 1 9 50 (b) 1 9 56 (c) 1 9 77 

  The large and key industries were prioritized in _________ industrial policy. 

  (a) 1950 (b) 1956 (c) 1977 

 (4) ½ Û Û Á õ©Û¾ Û Û× Šþ ù Û Á õ à ïõÁ õ¨Û ¶Û Û  ¸Û •ÛÅÛ Û ×¶Û à  ›Û ÐéüÁ õÛ ©Û  _ _____ _  Í Û Û ÅÛ ¾ Û Û× ïõÁ õÈÛ Û ¾ Û Û× …Û ÈÛ à . 

  (a) 1 9 80 (b) 1 9 77 (c) 1 9 91 

  The Indian economy announced liberalisation in the year ___________ 

  (a) 1980 (b) 1977 (c) 1991 

 (5) …é¾ Û .…Û é. ýÛ ä. (MO U )¶Û Û é __ _ ___ _ …¬ Û Ù ¬ Û Û ýÛ  ™ öé. 
  (a) ¾ Û Û é¶Û Ûȩ́ Û Û éÅÛ à  …Û ñº õ ýÛ äÜ ¶Û ¤ø 

  (b) ¾ Û é¾ Û ÛéÁ õ¶¦ ø¾ Û  …Û ñº õ …¶¦ øÁ õÍ ¤éø¶¦ øá •Û  

  (c) ¾ Û é¾ Û ÛéÁ õ¶¦ ø¾ Û  …Û ñº õ ýÛ ä¤øà ÅÛ à ¤øà 
  M.O.U. stands for __________ 

  (a) Monopoly of Unit 

  (b) Memorandum of Understanding 

  (c) Memorandum of Utility 
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 (6) ÈÛ ©Û Ù¾ Û Û ¶Û  ÍÛ ¾ Û ýÛ ¾Û Û× ïéõ¤ øÅÛ Û ïõ “Û éª Û Û é¾ Û Û× 1 0 0 %  F D I ¶Û à  ™æö¤ø …Û ¸Û ÈÛ Û ¾ Û Û× …Û ÈÛ à  ™ öé _ ___ __ _. 

  (a) Í Û Û ˜ Ûä× (b) ” Û Û é¤ä×ø (c) ¼ Û ·ÛéýÛ  ¶Û ¬ Û à 

  “In India, certain sectors have 100% FDI”. This statement is __________. 

  (a) true (b) False (c) None of these 

 (7) ” Û Û ¶Û •Û à ïõÁ õ¨Û ¶Û à ¶Û à Ü ©Û ¶Û Û× Š°éù É Û ¾ Û Û× __ ___ __ ÅÛ “Û à  Ü ¶Û ¨Û ÙýÛ Û é,  Š² Û é•Û Û é¶Û à  ïõÛ ýÛ Ù“Û ¾ Û ©Û Û ¶Ûé ÈÛ µÛ Û Á éõ ™ öé. 

  (a) Í Û ¾ Û Û ›÷ïõÅýÛ Û ¨Û  

  (b) ¶Û º õÛ  

  (c) ¶Û Ü Ðü ¶Û º õÛ  ¶Û Ü Ðü ” ÛÛ é¤ø 

  __________ Oriented decisions increase efficiency of performance in private 

sector. 

  (a) Social welfare  (b) Profit  (c) No profit, no loss 

 (8) ›Û ÐéüÁ õ“Û éª Û ¶Û ä× ¾ Û æ¦ øà  Á õÛéïõÛ ¨Û  – Û ¤øÛ ¦ øÈÛ Û ¶Û Ûé …é ïõ Š°éù ÉÛ  _ __ __ __ 

  (a) Á õÛ ›÷ïõÛ éÌ Û à ýÛ  ” Û Û²  – Û ¤øÛ ¦ øÈÛ à  

  (b) ” Û Û é¤ø¾ Û Û × – Û ¤øÛ ¦ øÛ é ïõÁ õÈÛ Û ¶Û Ûé 

  (c) ¶Û º õÛ ¶Ûé ¾ Û Ðü« Û ¾ Û  ïõÁ õÈÛ Ûé 

  One of the objectives of disinvestment in public sector is to __________ 

  (a) reduce fiscal deficit  

  (b) reduce loss 

  (c) maximise profit 

 (9) ¼ Û à œ÷ ¸Û ×̃ Û ÈÛ Ì Û â ýÛ  ýÛ Ûé›÷¶Û Û ¾ Û Û×, …Û íé² Û éÜ •Û ïõ  Ü ÈÛ ï õÛ Í Û ¶Û Û × ¸Û •Û ÅÛ Û ¶Û é ___ ___ _ ¾ Û Û é¦ éøÅÛ  ©Û Á õ à ïéõ 

…Û éÇ ” Û ÈÛ Û ¾ Û Û× …Û ÈÛ é ™ öé. 

  (a) ïéõˆ ¶Í Û (b) …¾ Û ©ýÛ Ù Í Û é¶Û (c) ¾ Û ÐüÛ ÅÛ ¶Û Ûé¼ Û à Í Û 

  The Industrial development in the second planning is known as _________ 

model. 

  (a) Keynes (b) Amartya Sen (c) Mahalnobis 

 (10) ÈýÛ Ü î ©Û •Û ©Û  ¾ Û Û Ü ÅÛ ïõ à ¶Û à  ¸Ûé§øà ¾ Û Û ×, ¸Û é§øà  Š ¸Û Á õ …×ï äõ ÉÛ  µÛ Á õÛ ÈÛ ¶Û Û Á õ ___ ___ _ ÈýÛ Ü î ©Û  ÐüÛ éýÛ  ™ öé . 

  (a) ¼ Û é (b) ª Û ¨Û (c) …éïõ 

  The private firm is generally managed and controlled by __________ individuals 

  (a) two (b) three (c) one 

 (11) ½ Û Û •Û à þ ù ÛÁ õ à  ¸Ûé§øà ¾ Û Û × __ ___ __  ½ Û Û •Û à þ ùÛ Á õÛé¶Û à  Í Û ×” ýÛ Û  ÐüÛ éýÛ  ™ öé. 

  (a) ¼ Û é ¬ Û à  ÈÛ àÍ Û (b) ¼ Û é ¬ Û à  ˜Û Û ÅÛ àÍ Û (c) ¼ Û é ¬ Û à  ªÛ à Í Û 

  In partnership firms the maximum number of partners is between _________ 

  (a) 2 to 20 (b) 2 to 40 (c) 2 to 30 
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 (12) Ü ÈÛ Ü ÅÛ ýÛ ¾ ÛÍ Û ¶Û ¶Û Û× ¸Û é§øà ¶Û Û × Ü Í Û ±ù Û ×©Û  ¸Û ó¾ Û Û ¨Û é, ¸ Û é §øà ¾ Û Û × __ __ __ _ ¶Û Û é Ð éü©Û ä ¸Û Û é©Û Û ¶Û à  Í Û « Û Û  ïéõ ¾ Û Ðü« ÈÛ  

ÈÛ µÛ Û Á õÈÛ Û ¶Û Ûé ÐüÛ éýÛ  ™ öé. 

  (a) ¾ Û Û Ü ÅÛ ïõ (b) ¾ Û é¶Û é›÷Á õ (c) ¼ Û ·Ûé 

  According to Williamson’s theory of firm, the purpose of the _________ is to 

increase the power and prestige. 

  (a) Owner (b) Manager (c) Both 

 (13) Ü ÈÛ Ü ÅÛ ýÛ ¾ ÛÍ Û ¶Û ¶Û Û  ¸Ûé§øà ¶Û Û × Ü Í Û ±ù Û ×©Û  ¸Û ó¾ Û Û ¨Û é ¸Û é §øà  ÅÛ – Û ä« Û ¾ Û  ¶Ûº õÛ ¶Ûé ¾ Û Ðü« ÈÛ  …Û ¸Û é ™ öé , ïõÛ Á õ¨Û  ï éõ 

___ __ __ Í Û ×©Û Û éÌ Û  …Û ¸Û ÈÛ Û  ¾ Û Û¤éø. 

  (a) ÉÛ éÁ õÐüÛ éÅ¦ øÍ Û Ù¶Û é (b) ¸Û é§øà ¶Û é (c) ¾ Û Û Ü ÅÛ ïõ¶Ûé 

  In Williamson’s model the minimum profit is required to satisfy __________ 

  (a) Shareholders  (b) Firm (c) Owner 

 (14) ¼ Û Ûé¾ Û ÅÛ é …Û ¸Û éÅÛ  ¸Û é§øà ¶Û Û é Ü Í Û ±ù Û ×©Û  ____ __ _ ¸Û Ü Á õ Ü Í ¬ Û Ü ©Û  þù ÉÛ Û ÙÈÛ é ™ öé. 

  (a) Ü Í ¬ Û Á õ 

  (b) ¸Û Ü Á õÈÛ ©Û Ù¶Û ÉÛ à ÅÛ  

  (c) Ü Í ¬ Û Á õ …¶Ûé ¸Û Ü Á õÈÛ ©Û Ù¶Û ÉÛ à ÅÛ 

  Baumol’s theory of firm indicates __________ situation 

  (a) Static  

  (b) Dynamic 

  (c) Static & Dynamic 

_____________ 
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1 . Š² Û é•Û  Í Û Û ÐüÜ Í Û ïõ¶Û Ûé …¬ Û Ù Í Û ¾ Û›Û ÈÛ Û é …¶Û é ©Û é¶Û Û × ¾ Ûä” ýÛ  ïõÛ ýÛ Û ë ˜ Û ˜ Û Ûë.  14 

 Explain the meaning of an entrepreneur and discuss its main functions. 

   …¬ÛÈÛÛ/OR 

 Š² Û é•Û  Í Û Û ÐüÜ Í Û ïõ¶Û Û× ¾ Û ä” ýÛ  ÅÛ “Û¨Û Û é ˜ Û ˜ Û Ûë. 

 Discuss the main characteristics of an Entrepreneur. 

 

2 . ¶Û Û ˆ ¤ø¶Û Û  ›Û é” Û ¾ Û ¶Û Û  ÜÍ Û ±ù Û×©Û ¶Û ä× ¾ Û æÅýÛ Û ×ïõ¶Û  ï õÁ õÛ é. 14 

 Evaluate the risk theory of Knight.  

   …¬ÛÈÛÛ/OR 

 ÉÛ äÜ ¾ ¸Û ¤øÁ õ¶Û Û  ¶Û ÈÛ ¸Û óÈÛ ©Û Ù¶Û ¶Û Û  Ü Í Û±ù Û ×©Û ¶Û ä× ¾ Û æÅý Û Û ×ïõ¶Û  ïõÁ õÛ é. 

 Evaluate the Innovation theory of Schumpeter. 

 

3 . þ éù ÉÛ ¶Û Û  …Û Ü ¬ Û Ùïõ Ü ÈÛ ïõÛ Í Û ¾Û Û × Š²Û é•Û  Í Û Û ÐüÜ Í Û ïõ Ûé¶Û Û  º õÛ Ç Û ¶Ûà  ˜ Û ˜Û Û Ù ïõÁ õÛ é. 14 

 Discuss the role of entrepreneurs in the economic development of a country. 

               …¬ÛÈÛÛ/OR 

 Á õÛ é›÷•Û Û Á õ à ¶Û à  ©Û ïõÛ é¶Û ä× Í Û ›÷Ù¶Û  ïõÁ õÈÛ Û ¾ Û Û× Š² Û é•Û  Í Û Û ÐüÜ Í Û ïõÛé¶Û Û é º õÛ Ç Ûé Í Û ¾ Û ›Û ÈÛ Ûé. 

 Explain the role of entrepreneurs in the generation of employment opportunities. 

 

4 . Š² Û é•Û Û é¶Û é Ü µÛ Á õÛ ¨Û  ¸Û æÁ ä×õ ¸Û Û ¦ ø©Û à  Ü ÈÛ Ü ÈÛ µÛ  ¶Û Û ¨Û Û ïõ à ýÛ  Í Û×Í ¬ Û Û …Û é¶Û à  ˜ Û ˜ Û ÛÙ ïõÁ õÛ é. 14 

 Discuss various financial institutions giving finance to industries. 

            …¬ÛÈÛÛ/OR 

 ¶Û Û ¶Û Û  …¶Ûé •Û èÐü Š² Û é •Û Û é¶Û é Ü µÛ Á õÛ ¨Û  ¸Û æÁ ä×õ ¸Û Û ¦ ø©Û Û × ÎÛ Ûé©Û Û é ˜ Û ˜ Û Ûë.  

 Discuss the financial sources of small and cottage industries. 
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5 . Í Û Û ˜ Û Ûé Š« Û Á õ ¸Û Í Û×þ ù  ïõÁ õÛ é : 14 

 Choose the right answer : 

 (1) Š² Û é•Û  Í Û Û ÐüÜ Í Û ïõ©Û Û ¶ÛÛ é ÉÛ ¼ þ ù  îýÛ Û ×¬ Û à  Šþ Õù ½ Û ÈýÛ Ûé ? 

  (a) …é¶¤Ö éø¸Û ó é¶ýÛ Û éÁ õ (b) ›Û é” Û ¾ Û 

  (c) ¶Û ÈÛ à ¶Û à ïõÁ õ¨Û (d) …éïõ¸Û ¨Û  ¶Û Ü Ðü 

  How the word ‘Entrepreneurship’ came into existence ? 

  (a) Entrepreneur  (b) Risk 

  (c) Innovation (d) No of these 

 (2) ÈýÛ ÈÛ Í ¬ Û Û ©Û×ª Û  …¶Û é Í Û ×̃ Û Û ÅÛ ¶Û ¶Û ä× ¾ Û ä” ýÛ  ïõÛ ýÛ Ù Š² Û é•Û  Í Û Û ÐüÜ Í Û ïõ¶Ûä× …éÈÛ ä× ïõÛ é̈ Û  ïõÐéü ™ ö é ? 

  (a) ¶Û Û ˆ ¤ø (b) ¾ Û Û ÉÛ ÙÅÛ 

  (c) ¦ ÖøïõÁ õ (d) …éïõ¸Û ¨Û  ¶Û Ü Ðü 

  Who told that the main functions of an entrepreneur are organization and 

management ? 

  (a) Knight (b) Marshall 

  (c) Drucker (d) None of these 

 (3) ¶Û ÈÛ à  ©Û ïõÛ é¶Û ä× Í Û ›÷Ù¶Û  ïõÛ é¶Û Û  ³ ù Û Á õÛ  ïõÁ õÈÛ Û ¾ Û Û× …Û ÈÛ é ™ öé ? 

  (a) Í Û ×̃ Û Û ÅÛ ïõ (b) ¾ Û æ¦ øà ¸Û Ü ©Û 

  (c) Š² Û é•Û  Í Û Û ÐüÜ Í Û ïõ (d) …éïõ¸Û ¨Û  ¶Û Ü Ðü 

  Who generates new opportunities ? 

  (a) Manager (b) Capitalist 

  (c) Entrepreneur (d) None of these 

 (4) Š² Û é•Û  Í Û Û ÐüÜ Í Û ïõ©Û Û ¶Ûé Ü ÈÛ ïõÛ Í Û ¶Û Û  …éÜ ¶›÷¶Û  ©Û Á õ à ïéõ  ïõÛ é̈ Û  …Û éÇ ” Û Û ÈÛé ™ öé ? 

  (a) ÉÛ äÜ ¾ ¸Û ¤øÁ õ (b) ¶Û Û ˆ ¤ø 

  (c) ¾ Û Û ÉÛ ÙÅÛ (d) …éïõ¸Û ¨Û  ¶Û Ü Ðü 

  Who says that an entrepreneur is an engine of Development ? 

  (a) Schumpeter (b) Knight 

  (c) Marshall  (d) None of these 

 (5) ¶Û ÈÛ  ¸Û óÈÛ ©Û Ù¶Û Û é¾ Û Û×¬ Û à  Šþ Õù ½ Û ÈÛ ©Û Ûé ¶Û º õÛé ïõÛ ýÛ ¾ Û à  ÐüÛ éýÛ  ™ öé ? 

  (a) ÐüÛ (b) ¶Û Û 

  (c) (a) …¶Û é (b) ¼ Û ×¶Û é (d) …éïõ¸Û ¨Û  ¶Û Ü Ðü 

  Is the profit generated from innovation permanent ? 

  (a) Yes (b) No  

  (c) (a) and (b) both (d) None of these 
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 (6) ïõýÛ Û  …¬ Û Ù©Û ×ª Û ¾ Û Û × ¶Û ÈÛ ¸Û óÈÛ ©Û Ù¶Û ¶Û Û ïõÛ ýÛ Ù¶Û é …ÈÛ ïõ Û ÉÛ  ™ öé ? 

  (a) Ü Í ¬ Û Á õ (b) •Û Ü ©Û ÉÛ à ÅÛ 

  (c) (a) …¶Û é (b) ¼ Û ×¶Û é (d) …éïõ¸Û ¨Û  ¶Û Ü Ðü 

  In which economy there is a scope for innovation ? 

  (a) Static (b) Dynamic 

  (c) (a) and (b) both (d) None of these 

 (7) ›Û é” Û ¾ Û Ûé ïéõ¤øÅÛ Û × Í ÈÛ Äõ¸Û ¶Û Û × ÐüÛ éýÛ  ™ öé ? 

  (a) ¼ Û é (b) ˜ Û Û Á õ 

  (c) Í Û Û ©Û (d) ¶Û ÈÛ 

  How many types of risk are there ? 

  (a) two (b) four 

  (c) seven (d) nine 

 (8) Š² Û é•Û  Í Û Û ÐüÜ Í Û ïõ ÉÛ Û ¶Û Û  ³ ù Û Á õÛ  Í Û ×̧ Û Ü « Û ¶Ûä× Í Û ›÷Ù¶ Û  ïõÁ éõ ™ öé ? 

  (a) ¾ Û æ¦ øà  Á õÛéïõÛ ¨Û (b) ¼ Û ›Û Á õ 

  (c) ¶Û ÈÛ à ¶Û à ïõÁ õ¨Û (d) …éïõ¸Û ¨Û  ¶Û Ü Ðü 

  Through what an entrepreneur generates the wealth ? 

  (a) Investment (b) market 

  (c) Innovation (d) None of these 

 (9) ÉÛ äÜ ¾ ¸Û ¤øÁ õ¶Û ä× ÈÛ ©Û ¶Û  ïõýÛ ä× Ðü©Û ä× ? 

  (a) ½ Û Û Á õ©Û (b) …¾ Û éÜ Á õïõÛ 

  (c) ›÷¾ Û Ù¶Û à (d) …éïõ¸Û ¨Û  ¶Û Ü Ðü 

  Which is the native place of Schumpeter ? 

  (a) India (b) America 

  (c) Germany (d) None of these 

 (10) ¾ Û Û é¤øÛ  Š² Û é•Û Û é¾ Û Û × …éïõ ÅÛ Û ” Û  ÄõÜ ¸Û ýÛ Û ¶Û Û  Á õÛéïõÛ ¨Û  Í Û Û ¾ Ûé Á õÛ é›÷•Û Û Á õ à ¶Û à  ©Û ïõÛé …×þ ù Û ›÷é ïéõ¤øÅ Û à  Š ½ Ûà 

¬ Û Û ýÛ  ™ öé ? 

  (a) ¼ Û é (b) ¸Û Û ×̃ Û 

  (c) Í Û Û ©Û (d) ˜ Û Û Á õ 

  How many appropriate opportunities of employment are generated against an 

investment of one lac rupees in big industries ? 

  (a) two (b) five 

  (c) seven (d) four 
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 (11) ˆ ¶¦ øÜ Í ¤ÖøýÛ ÅÛ  º õÛ ˆ ¶Û Û ¶Í Û  ïõÛȩ́ Û Û ëÁ éõ ÉÛ ¶Û  …Û ñº õ ˆ Ü ¶¦ øýÛ Û ¶Û à  Í ¬ Û Û ¸Û ¶ÛÛ  î ýÛ Û Áéõ ¬ Û ˆ  Ðü©Û à  ? 

  (a) 1 9 48 (b) 1 9 60 

  (c) 1 9 70 (d) …éïõ¸Û ¨Û  ¶Û Ü Ðü 

  When industrial finance corporation of India was established ? 

  (a) 1948 (b) 1960 

  (c) 1970 (d) None of these 

 (12) Í ¾ Û ÛéÅÛ  ˆ ¶¦ øÜ Í ¤ÖøýÛ ÅÛ  ¼ Ûêïõ …Û ñº õ  ˆ Ü ¶¦ øýÛ Û ¶Û à  Í ¬ Û Û ¸Û ¶Û Û î ýÛ Û Áéõ ¬ Û ˆ  Ðü©Û à  ? 

  (a) 1 9 70 (b) 1 9 54 

  (c) 1 9 89 (d) …éïõ¸Û ¨Û  ¶Û Ü Ðü 

  When small industrial development bank of India was established ? 

  (a) 1970 (b) 1954 

  (c) 1989 (d) None of these 

 (13) ¶Û Û ¼ Û Û¦ Ùø¶Û à  Í ¬ ÛÛ ¸Û ¶Û Û  î ýÛ Û Áéõ ïõÁ õÈÛ Û ¾ Û Û× …Û ÈÛ à  Ðü ©Û à  ? 

  (a) 1 9 82 (b) 1 9 75 

  (c) 1 9 85 (d) …éïõ¸Û ¨Û  ¶Û Ü Ðü 

  When NABARD was established ? 

  (a) 1982 (b) 1975 

  (c) 1985 (d) None of these 

 (14) •Û ä›÷Á õÛ ©Û  Á õÛ šýÛ  ¶Û Û ¨ÛÛ ïõ à ýÛ  Ü ¶Û•Û ¾ Û ¶Û à  ¾ Ûä” ýÛ  …Û ñÜ º õÍ Û  î ýÛ Û× ™ öé ? 

  (a) Í Û äÁ õ©Û (b) ÈÛ ¦ øÛ éþ ù Á õÛ 

  (c) …¾ Û þ ù Û ÈÛ Û þ ù (d) …éïõ¸Û ¨Û  ¶Û Ü Ðü 

  Where is the main office of Gujarat State Finance Corporation ? 

  (a) Surat (b) Baroda 

  (c) Ahmedabad (d) None of these 

______________ 


